	Table S3.  Significance of predictors of D4 weight

	
	Model
	Significance
	AIC
	Full model better fit?

	Full population
	D4 weight = Log titer
	<2.2e-16
	995.85
	p=0.0003854

	
	D4 weight =Airway inflammation
	1.556e-9
	1035.3
	p=8.588e-13

	
	D4 weight = Log titer + Airway inflammation
	NA
	984.95
	NA

	[bookmark: _GoBack]Mx1-/-
subpopulation
	D4 weight = Log titer
	3.939e-05
	619.17
	p=0.01242

	
	D4 weight = Airway inflammation
	0.001418
	626.07
	p=0.0003287

	
	D4 weight = Log titer + Airway inflammation
	NA
	614.7
	NA



